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Figure 4. Step Response
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Figure 6: Step Response

e

Figure 7: Impulse Response
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Figure 8: Impulse Response

o

(=]

5 10
Time

(5) Figure 5 77 2 A F IR{E 8 48 o2 S 2 4 P 8 L

8+ 2 25+1 1
(A)s+1 (B)32+s+1 (C)32+2s+1
1-3s
(D) (E) ;L k% gk

s24+s5+1

(6) Figure 6 =T 2 oA F R4 1 48 T St 2 35 1% 48 &

1 §4+1 i
A B ~
( )s—l() $ (C).92—0.ls+1
(D)_i_ (E) 14 L% 3k

s34 s+1 .

(7) Figure 7 37 A 2AF BRAE 48 45 F B2 Bk 40 16

2 1 2
A)—— (B)—= (C
( )s—|-3 ( )32 ( )s3+252+23+-1

s—1

T as B REws

(D)

(8)./ [ T & oA F B 48 55 o ik 2 Bk 187 4 &
s+1 105 + 1 1
(A) ® orsrz O

s—1

1

gL kB
s2+0.1s+1 (E) A L& 3

(D)




CEANPEIUESS-ZES L EE L2 PEEL e

HELE A [ER2mELECE) FA3 431008
A BRMERE TTR ERTEA (B - HAERY) (REH) £5HEEIE

RFREAANFTEZREANY > FTRFELHEREELE - ﬁ%ﬁéﬁﬁih\’g%ﬁda‘n*h\f'

THT_' C “ G —>y

Figure 9: a standard feedback system
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